Y %751

—IENE

—REHFREATUELRIERK, THR,
FRERIMARAEGSTREMRERIRE. &5
MEEENRBE N,

[ ] £FEHRER

Y-40 Y-60 Y-100 Y-150 Y-200
a g Y-60Z
Y-407Z Y-60ZT | Y-100ZT | Y-150ZT Y250

AHERE mm $ 40 $ 60 $100 $150 |4 200. ¢ 250

BRy M10X1 | M14X15 M20X1.5
HRESS 2.5 15
0~0.1; 0.16; 0.25; 0.4; 0.6; 1; 1.6, 2.5; 4, 6
MRER 0~0.6; 1;
0~10; 16; 25 | 0~10; 16; 25; 40; 60
MPa 1.6; 2.5; 4; 6|

—0.1~0 I -0.1~0; 0.1~0.06; 0.15;0.3;0.5;0.9; 1.5; 2.4

{EFATRE &4 -40~70°C, MFBER KT 85%
BERWE: AT 0.4%/10°CHE ARERE 20£5°C)
FTEFBWEMR:

THEWR #® X HRE a5 55T

HREE | §asHPbso-1 | BHHQSn4-03 | WAL | WROSE

[ #waEeE
103 B 01 B 8 25 b 2 ok BB S B LA LR
I He e R (LR R

1. Bk
2. WHE
3. ER
4. Hgt

5. HMEE

6. fESHMBELE)
7. EF

8. Fx




] shmR~ B mm

D H de H
-
y
1
o}
t H
d
ZEEE#ERE (Y-40,60,100,150, 200, 250) WE#RIE (Y-60ZT,100ZT,150ZT)
T ——
_ L . nl
L
T -
B B2 [D(¢) d |d(d)| L W($)] B | H Fa(d) H | H,
Y-40 40 Mi1ox1 10 58 23 8.5
Y-40Z 40 M10x1 10 44 23 0
Y-60 60 |M14x1.5 14 56 28 10.5
Y-60Z 60 [M14X%1.5 14 56 28 0

Y-60ZT 60 M14x15 14 72 | 56 | 28 5 24 0

Y-100 100 [M20x1.5 20 90 42 16

Y-100ZT | 100 [M20%1.5 20 118 | 83 43 | 55 | 25 24

Y-150 150 [M20x1.5

mmﬁ&i% (Y"4OZ, 602) Y-150ZT | 150 [M20X1.5
Y-200 200 [M20x1.5

20 116 | 44 16

20 [ 165 | 85 | 45 | 55 | 27 | 35

20 140 | 46 16

(=23 e PR =2 T e 2R I = O R O IR B I I - N

Y-250 250 {M20 X 1.5 20 170 | 60




